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\usepackage{pstricks-add}

\psset{xunit=3cm,yunit=2cm}
\def\data{0.1 0.99 0.2 0.96 0.5 0.78 1.0 0.37 2.0 0.02 5.0 2.5e-3 10 1.5e-3}

\begin{pspicture}(-1.5,-3.7)(1.2,0.5)
\pstScalePoints(1,1){log}{log}
\psaxes [axesstyle=frame, xylogBase=10, logLines=all,
tickwidth=1pt, ticksize=0 10pt,
subtickwidth=0.5pt, subticks=10](-1,-3)(1 ,0)
\listplot [showpoints=true, linecolor=black, dotstyle=o,
linewidth=1.2pt, dotsize=5pt 2]{\data}
\uput{1.0cm}[270] (0,-3){Abszisse (GHz)}
\uput{1.2cm}[180]{90}(-1,-1.5){0rdinate (m)}
\end{pspicture}



